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Solve

X +X, XX, +X =2

X+ %, + % +2x, +2x, =3 (10%)

X, + X, + X +2x, +3x;, =2

I 2
If A=|3 -1 —-3| and b=|-1|. Assume 4% =5, find . (10%)
2 3

1 3

1 4

11
. B A=L J,ﬁndAlo. (10%)

1
Let A=|-1
2

E =|-

8 |—

<o = O

2 1 3

Find the determinantof |4 2 1|.(10%)

6 -3 4

4 3
-2 0/, find 47, (10%)
2 3

0 1 00 1 0
0LE,=| 0 1 0LE=|0 1
1 -2 0 1 0 3

= O O

Let E= E3EyFy, find E™'. (10%)
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4 3 2

Ca=|2lb=|3E=|-5].
3 1 3

Are @,b,¢ linearly dependent? Why? (10%)

cos@ -—siné

sin@ cosé@

8. Let Q={ }.Find 0. (10%)

3 2
9. A= { ~ } Find the eigenvalues and the corresponding eigenvectors of 4.

(10%)

R d, .
10.Let f(x)=e® . Find T T 24 the slope of fix) atx = 1. (10%)

2




